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	227
	Epstein, Joseph
	Yes
	222.09
	11.14
	Although it is well-known that the 2.4GHz band is more used than the 5GHz band in residential deployments, the 5GHz band--and all of its channels--is commonly used in enterprise deployments. Given the large number of 11a deployments and the push for more devices to operate in the 5GHz band, it is reckless to provide 5GHz APs a free pass not to perform overlapping BSS scans. Much of the text in the draft pertaining to reasons for excluding 5GHz is based on old (pre-2007) deployments and does not true today. If overlapping BSSs are an issue that needs to be addressed, then they need to be addressed uniformly. (Note: although one can possibly argue that DFS channels are not used as much and should remain exempted, this too is reckless as many 11a devices have been software-updated to support DFS.)
	Require 5GHz APs and STAs to follow the same overlapping BSS restrictions as 2.4GHz. In the alternative, remove the overlapping BSS scanning and reaction requirements for 2.4GHz, and allow the settling to be performed outside the scope of the standard.
	Disagree – First, an HT AP operating in the 5 GHz band is required to perform an initial scan. Second, the 5GHz band is different from the 2.4 GHz band – in 5 GHz, any overlap is complete with either the primary or secondary channel of the 20/40 MHz BSS, whereas varying degrees of overlap are possible in the 2.4 GHz band. A complete overlap of the primary channel creates no new problems as compared to existing possible 5 GHz BSS overlapping situations, where the existing protocols simply allow the BSSs to share the channel through ordinary DCF behavior. Overlapping in the secondary channel is different, in that not all control channel information is conveyed to the secondary channel, but the elements exist in the protocol to allow the 20/40 MHz BSS to convey such information to a secondary channel OBSS, use of such elements can be determined outside of the scope of the standard, as suggested by the commenter.

	229
	Epstein, Joseph
	Yes
	223.06
	11.14.3.2
	The requirement that the AP must disable 40MHz operation based on strict intolerance-setting values or client detection criteria can lead to exposure to attacks that seek to prevent 40MHz operation.
	Allow the AP to use selection rules to exclude potential attackers. If no proposal is made as to what the rules may be, then allow the rules to be outside the scope of the standard.
	Disagree – the exchange of 20/40 Coex information is not the only denial of service attack that exists for the protocol – many such attacks have existed since the first 802.11 standard was created, the CTS frame being the best such example. Because of the particular rules of operation for the spectrum in which a conformant device operates, additional avenues for denial of service attack exist and will continue to be outside of the control of the 802.11 body. Finally, in order to allow fair sharing of limited spectrum among unrelated devices, it is necessary to provide for a “public” mechanism to announce the need for such sharing.

	159
	Fischer, Matthew
	No
	223.39
	11.14.3.2
	The following text is a bit vague: "After starting a 20 MHz BSS, an FC HT AP 2G4 shall perform a minimum of
dot11BSSWidthChannelTransitionDelayFactor overlapping BSS scans, either itself or through its associated
STAs, of the set of channels that are allowed operating channels within the current operational regulatory domain
and whose center frequency falls within the 40 MHz affected channel range given by Equation (11-3)
before making a transition from a 20 MHz BSS to a 20/40 MHz BSS. If no channel has been selected as the
intended secondary channel of the 20/40 MHz BSS, then all channels in the frequency band shall be scanned." The reason for the vagrancy is this: - if the STA is doing the scanning, then it is not privvy to the possible intended secondary channel information, and therefore, according to the statements, the STA should be scanning all channels in the frequency band - but one has to sort of squint to see it this way.
	Change the cited paragraph to read as follows: "After starting a 20 MHz BSS, an FC HT AP 2G4 shall perform a minimum of
dot11BSSWidthChannelTransitionDelayFactor overlapping BSS scans, either itself or through its associated
STAs before making a transition from a 20 MHz BSS to a 20/40 MHz BSS. When the AP performs the scanning and the secondary channel for the 20/40 MHz BSS has been selected, then the scan shall be performed over the set of channels that are allowed operating channels within the current operational regulatory domain
and whose center frequency falls within the 40 MHz affected channel range given by Equation (11-3). When the AP performs the scanning without an intended secondary channel for the 20/40 MHz BSS, or when the AP's associated STA(s) perform the scanning, then the scan shall be performed on all channels in the frequency band."
	Agree

	126
	Siti, Massimiliano
	Yes
	223.39
	11.14.3.2
	The scanning procedure described in this paragraph and the associated equation 11-3 is not clear. If the intent is to scan looking only for 802.11 frames and non-802.11 devices' energy, then the power threshold should be specified, as well as the frequency centers and a variety of channel widths.
	If the scanning procedure looks for both valid 802.11 beacons (or other frames) and non-802.11 devices, then specify the power threshold for the non-802.11 devices and specify the frequency cent and channel widths to do the sensing.
	Principle – The OBSS scan is, as the name implies, an attempt to locate overlapping BSSs, and not necessarily non-802.11 devices. Other subclauses of 11.14 describe the events that must be reported when scanning. Nothing normative requires reporting of received power events, but nothing normative would prevent this either. There is some agreement that some additional clarity can be added to the specification. See CID 159 for such changes and also: TGn editor shall change 11.14.5 by adding a sentence after the first sentence of the first paragraph: “STAs that perform overlapping BSS scans report discovered BSSs and received 20/40 BSS Coexistence information to their associated AP (see 11.14.12.)”

	152
	Vlantis, George
	Yes
	223.39
	11.14.3.2
	The scanning procedure described in this paragraph and the associated equation 11-3 is not clear. If the intent is to scan looking only for 802.11 beacons (or other frames), then the frequency stepping for the channels needs to be specified (e.g. every 5Mhz) and to look for beacons (or other frames) with channel widths of 40MHz, 20MHz, 10MHz and 5MHz.
	If the scanning procedure looks for valid 802.11 beacons (or other frames), then specify this and specify what the frequency centers and channel widths should be.
	Disagree - Within the 2.4 GHz band, the only channelizations allowed are 20 and 20/40 – both of these are covered by the rules in the cited subclause. Within the 5 GHz band, channelization that is not 20 or 20/40 is only available through licensed use, in which case, interference that might be caused by the operation of a 20/40 BSS is already prohibited by the applicable regulatory body.

	230
	Epstein, Joseph
	Yes
	223.43
	11.14.5
	802.11 has always allowed for possibly-pathological channel selection of neighboring APs: they could always have been partially overlapping in the 2.4GHz band, and could always have been fully overlapping in any band. There are no rules that prevent this, as there should not be, because channel selection (aside from DFS) has been out of the scope of the standard. Although it is admirable for the draft contributors to be concerned about pathological 40MHz/20MHz overlap, there is no need for 802.11 to take on the overlap problem in a normative manner now. Furthermore, the solution described in the standard is needlessly complicated. Finally, who is to say that some managed deployments should not be able to create such overlap if the benefits to them outweigh the RF complications (such as at the transition point between two buildings). The rules, as stated, may even lead to rampant instability in certain situations.
	Remove all of the text that requires APs to disable 40MHz operation on the basis of any rule whatsoever, as this is contrary to the existing spirit of 802.11 and adds minimal if not negative value. Retain the requirements that STAs must be able to scan, and the protocol that allows APs to require STAs to scan. Make the decision on whether an AP operates in 40MHz beyond the scope of the standard.
	Disagree – a large majority of the voters in 802.11 have agreed with the proposition that changes created by TGn have created the need for normative behaviors regarding overlapping BSS situations related to the use of a 40 mhz wide channel. The protocol provided for this purpose adds only a small amount of functionality to that which is already performed by most production devices – that is, today most devices already scan channels at various times – the TGn protocol requires scanning at a rate which is far below that which is typically done by existing devices. The TGn protocol requires STAs to transmit management frames to report some of the information gathered during such scanning activity. This is a relatively small change for existing implementations.

	61
	Adachi, Tomoko
	No
	225.63
	11.14.3.3
	In 11.14.3.3. An IDO STA can also move the BSS.
	Change "Similarly, when transmitting HT Operation elements, Channel Switch Announcement elements, and/or Extended Channel Switch Announcement elements, the AP moving the BSS selects a combination of operating parameters from any single row of any one of the tables in Annex J that is appropriate for the current operating domain of the AP. The AP selects one channel number from the Channel Set column of the selected row. The AP includes the selected information in subsequently transmitted frames that contain any combination of the following four elements:" to "Similarly, when transmitting HT Operation elements, Channel Switch Announcement elements, and/or Extended Channel Switch Announcement elements, the AP or IDO STA moving the BSS selects a combination of operating parameters from any single row of any one of the tables in Annex J that is appropriate for the current operating domain of the AP or IDO STA. The AP or IDO STA selects one channel number from the Channel Set column of the selected row. The AP or IDO STA includes the selected information in subsequently transmitted frames that contain any combination of the following four elements:".
	Principle – The cited sentence is incorrect – the sentence immediately preceeding was intended to convey the AP behavior – note that it suggests that the change can be width or channel. Note that the cited sentence only mentions a move – i.e. the cited sentence was always intended to be for the IDO STA case, and therefore, the subject of the sentence should be the simple “IDO STA” and not the compound “AP or IDO STA” as suggested in the proposed change. The following sentences do need the compound subject as suggested by the commenter. Instead of using the replacement text suggested by the commenter, the TGn editor shall use the replacement text given here: "Similarly, when transmitting HT Operation elements, Channel Switch Announcement elements, and/or Extended Channel Switch Announcement elements, the IDO STA moving the BSS selects a combination of operating parameters from any single row of any one of the tables in Annex J that is appropriate for the current operating domain of the IDO STA. The AP or IDO STA selects one channel number from the Channel Set column of the selected row. The AP or IDO STA includes the selected information in subsequently transmitted frames that contain any combination of the following four elements:"

	118
	Chu, Liwen
	No
	226.49
	11.14.4.2
	"The STA Channel Width field of the most recently received HT Operation element that was transmitted by STA2 is set to 1." STA2 may be a non-AP STA in a DLS communication, and may never send a HT Operation element. So this Bullet should be "If STA2 is an AP, the STA Channel Width field of the most recently received HT Operation element that was transmitted by STA2 is set to 1."
	As proposed.
	Agree (Or the cited condition can be deleted, and the text preceeding it adjusted for the missing bullet item)

	215
	Chaplin, Clint
	Yes
	228.12
	11.14.4.2
	A STA that is associated with an infrastructure BSS (STA1) shall not transmit a 40 MHz PPDU containing
one or more frames addressed to a STA (STA2) unless the following three conditions are true:
-- The Supported Channel Width Set field of the HT Capabilities element of both STAs is set to 1
-- The Secondary Channel Offset field of the most recently received HT Operation element sent by the
AP of the BSS has a value of SCA or SCB
-- The local boolean variable 40MHzRegulatoryClass is TRUE.
If the above three conditions are met, STA1 should not transmit a 40 MHz PPDU containing one or more
frames addressed to STA2 unless the following two conditions are true:
-- Either STA1 has not received a Notify Channel Width action frame that was transmitted by STA2, or
the Channel Width field of the most recently received Notify Channel Width action frame at STA1
that was transmitted by STA2 is non-zero
-- The STA Channel Width field of the most recently received HT Operation element that was transmitted
by STA2 is set to 1.
Why are these conditions separated into two separate blocks? I cannot see any difference between the two blocks.
	Either combine into a single block, or explain why they are in two different blocks
	Disagree – the difference between the two blocks is that the first block is a set of conditions that must be true (see the preceeding line that includes a “shall”) and the second block of conditions are used in a normative recommendation that uses “should” – see the texst immediately before the second block.

	216
	Chaplin, Clint
	Yes
	228.35
	11.14.4.3
	An AP shall not transmit a 40 MHz PPDU containing one or more frames addressed to another STA unless
the following three conditions are true:
-- The Supported Channel Width Set field of the HT Capabilities element of the AP and the STA are set
to a non-zero value
-- The Secondary Channel Offset field of the AP's most recently transmitted HT Operation element
sent has a value of SCA or SCB
-- The local boolean variable 40MHzRegulatoryClass is TRUE.
If the above three conditions are met, the AP should not transmit a 40 MHz PPDU containing frames addressed
to another STA unless either the AP has not received a Notify Channel Width action frame that was
transmitted by the STA or the Channel Width field of the most recently received Notify Channel Width action
frame at the AP that was transmitted by the STA is non-zero.
Why are these conditions separated into two separate blocks? I cannot see any difference between the two blocks.
	Either combine into a single block, or explain why they are in two different blocks
	Disagree – the difference between the two blocks is that the first block is a set of conditions that must be true (look for a “shall”) and the second block of conditions are used in a normative recommendation that uses “should”.

	217
	Chaplin, Clint
	Yes
	228.52
	11.14.4.3
	An AP shall not transmit a 40 MHz PPDU containing one or more frames with a group address in the Address
1 field unless the following three conditions are true:
-- The Supported Channel Width Set field of the HT Capabilities element of the AP is set to 1
-- The Secondary Channel Offset field of the AP's most recently transmitted HT Operation element
sent has a value of SCA or SCB
-- The local boolean variable 40MHzRegulatoryClass is TRUE.
If the above three conditions are met, the AP should not transmit a 40 MHz PPDU containing one or more
frames with a group address in the Address 1 field if the most recently received Notify Channel Width action
frame for any of the STA associated with the AP has the Channel Width field set to 0.
Why are these conditions separated into two separate groups? I cannot see any difference between the two groups.
	Either combine into a single group, or explain why they are in two different groups
	Disagree - See CID 216

	218
	Chaplin, Clint
	Yes
	229.06
	11.14.4.4
	An HT STA 5G that is not associated with an infrastructure BSS (STA1) shall not transmit a 40 MHz PPDU
containing frames addressed to a STA (STA2) unless the following three conditions are true:
-- The Supported Channel Width Set field of the HT Capabilities element of both STAs is set to 1
-- The Secondary Channel Offset field of the most recently received HT Operation element sent by
STA2 has a value of SCA or SCB
-- The Secondary Channel Offset field of the most recently transmitted HT Operation element sent by
STA1 has a value of SCA or SCB
If the above three conditions are met, STA1 should not transmit a 40 MHz PPDU containing one or more
frames addressed to a STA2 unless the STA1 has not received a STA Channel Width field that was transmitted
by STA2, or the value of the most recently received STA Channel Width field at STA1 that was transmitted
by STA2 is non-zero.
Why are these conditions separated into two separate groups? I cannot see any difference between the two groups.
	Either combine into a single group, or explain why they are in two different groups
	Disagree - See CID 216

	219
	Chaplin, Clint
	Yes
	229.22
	11.14.4.4
	An HT STA 5G that is not associated with an infrastructure BSS (STA1) shall not transmit a 40 MHz PPDU
containing one or more frames with a group address in the Address 1 field unless the following two conditions
are true:
-- The Supported Channel Width Set field of the HT Capabilities element most recently transmitted by
the transmitting STA is set to 1.
-- The Secondary Channel Offset field of the most recently transmitted HT Operation element sent by
STA1 has a value of SCA or SCB.
If the above two conditions are met, STA1 should not transmit a 40 MHz PPDU containing one or more
frames with a group address in the Address 1 field unless the most recently received STA Channel Width field
for each other known member of the BSS of which STA1 is a member is set to 1.
Why are these conditions separated into two separate groups? I cannot see any difference between the two groups.
	Either combine into a single group, or explain why they are in two different groups
	Disagree - See CID 216

	228
	Epstein, Joseph
	Yes
	229.43
	11.14.5
	Although it is well-known that the 2.4GHz band is more used than the 5GHz band in residential deployments, the 5GHz band--and all of its channels--is commonly used in enterprise deployments. Given the large number of 11a deployments and the push for more devices to operate in the 5GHz band, it is reckless to provide 5GHz APs a free pass not to perform overlapping BSS scans. Much of the text in the draft pertaining to reasons for excluding 5GHz is based on old (pre-2007) deployments and does not true today. If overlapping BSSs are an issue that needs to be addressed, then they need to be addressed uniformly. (Note: although one can possibly argue that DFS channels are not used as much and should remain exempted, this too is reckless as many 11a devices have been software-updated to support DFS.)
	Allow 5GHz APs to require 5GHz STAs to perform scanning operations for overlapping BSSs. Require 5GHz STAs to have the scanning capability in the 5GHz band, even if scanning may be disabled at deployment time. (Doing this does not satisfy my comment that 5GHz should have overlapping be mandatory.)
	

	98
	Chu, Liwen
	No
	229.46
	11.14.5
	"During an individual scan within an overlapping BSS scan operation, the per-channel scan duration is a minimum of dot11OBSSScanPassiveDwell TU (when scanning passively) or dot11OBSSScanActiveDwell TU (when scanning actively)." Why is the per-channel scan duration defined as the mininum of passive scan dwell time or active scan dwell time? It seems to me dot11OBSSScanActiveDwell should always be smaller than dot11OBSSScanPassiveDwell. Do you mean passive OBSS scan and active OBSS scan can be active at the same time? The 802.11 baseline doees not allow passive scan and active scan at the same time.
	Change the sentence to "During an individual scan within an overlapping BSS scan operation, the mininum per-channel scan duration is dot11OBSSScanPassiveDwell TU (when scanning passively) or dot11OBSSScanActiveDwell TU (when scanning actively)."
	Agree

	51
	Yee, Jung
	Yes
	231.00
	11.14.8
	Vague description of support for DSSS/CCK in 40 MHz
	Describe operating parameters in terms of TX Power Levels, Spectral Mask, channel numbers, TX modulation accuracy
	Disagree – there is no 40 MHz DSSS/CCK transmission – the subclause is describing when to set the bit that determines whether a DSSS/CCK transmission as described in clause 18 is allowed to be transmitted within a 20/40 MHz BSS.
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Abstract


This document proposes resolutions for comments of the COEX group related to subclause 11.14 that were submitted during the first round of sponsor ballot for the TGn draft.
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